At Grade
Algebra Basics Test

No calculator for
the first 5 problems!
Simplify. (One point each.)

) (-5)-=2) @

2) -5-7 @
3) (15)(3) @
4)  -3+13 @
5) e 7;-2 @

Calculator is permitted on the rest of
the test.

Solve. (3 points each.)
6) 3X-8=X+12

SXK=-X=1)2+%
2X =20
£ 2¢
Z

7. AdOX=9=8X=47+X
0X-9= 6X -7
JOX ~6X = -] 3 +9

4x = -8

%= -;g

8)

6=5X + 3)(=2X=8=X
G-9X-1S= x-3
~oXH 4.5 X=3
TSR RS vg

x= 0

Solve for X in terms of Y.

(One point each.)
9)  Y=2X+5
PG \/

10)

e S 5//’—\-

3X-5Y = 12
IS J T

Evaluate given that
a=-%,b=3,c=-5
(2 points)

4¢= g

11)




Simplify. (1 point each.)
12)  9x°+2x° I x 5

Caﬂ"}' S)mlg}r‘f)/

13)  10y*+5y2

14y = () X 3

Solve. (3 points each.)
L3

16) 5=
’(Xﬂ) = 2(5><+Z)
X+l = JOX +Y
vl Ok Y]

~7)(:-3
=5

17)  12+32X-4) = 6X

Facs Do M A

12 =12 = = bX

Di% O

18)

19)

g=lx_2 X = 7"7\13
‘ R.2
& ey i |




Exponents & Polynomials Test

(1 point for each problem)
Simplify or Multiply.

Dy = XW

) et 20

3)  7xyR+ 5x%yS
I2x273

4  (7Xy)(5¢%y)

35xky

5) Sty 2
can't

6) (@x <5X@yﬁ

7)) (x-4)(x+10)
X*+6¥—Yp

8 &+35)
X “hx ¥25

9) 7x’(3x2-5x+4)
21 x7-38xs 243
10) x=-7)(x+7)
X=- 4 q

11) 7(4x* - 3x3)

2% z) x’

12) (3x)(5xy)(x%y?)

5%+ 7x° - %2
Y2+ Fr
6x%(x2 - 5x —6)

6x1-30x7- 301"

13)

14)

15) 10x3-7x3 3

X

13x4 — 4x2

16)
can't

17) x-9°

X =14x + 9]

19 e 2
&

19) 30 p

20) (X*-5)x>+5)
xeoge

22) (2 +8x+3)(x+2)
x+2

T

X2 POK + 3%

X7 lox" 9%+

23) 3xy3(5x%y)?
(3><y 3X7-5 * 6)’7)

7S ® 7L)’S

24) [144x'%

25) (%)

26) 3xy*(x-3)x+9)
35y ¥ (K2 +ex~2%)
3x3y414 Xy T g)xy”

27) Convert into
scientific notation:
0.00073

7.3*)0”
= Y
28) ot /

qx1yT2°



Factoring Test

Multiply.
I -3)x +2)

xl-q

2)  (*+5y)?

X5+ 10 xty r2547

Factor
x2—10x + 16

6o

4 x¥-25

ey

5y S =20n
Sx> (x*-4)
Sx* (7‘ "'Z)( X ‘9

6) x*2+9x-20

cant

x2+x-30

kr)(x-5)

7)
8) 6x7y5 - 4x2y3
25>y (3xy2)

9) - %¥'-16

6[".}\.’ Xy\ +‘z)()< *?}

a1 &/rai(é

10) 8xy°®+ 14x°73
2 x{’v‘\j(”+ 3x”i}>
11) x*+25x -84

G #29)Xx -3)

x2 —25x + 84

(x-2D(x-v)

12)

13) 10x5 + 10x* - 200%°
J0x3(x™+ % -2
10 x> <><+5>(>L—-4>

x*-10x2+ 16

(x- ) x*- z>

14)

15) 4x>+8x + 140
3 3
Y (x +2 X+ ’F"\)

16) x°-25y*

&P+ 5y -5y

Solve.
1 =

+5x+6 = 2x>
0= %"-5% 5

0= (x-e)Xx+)

18) S5 ==X% .
Gx+1§= F ¥1LIE
0= x“43x 1%
O = (><+4)(><—2_>
19) 3x-5=7x-9
oS
20) (x-372 = x=Tx+7)
X5@x+9 = x =~y q
—eX=-5%
xe pE 0t
G

21) 2x*-48%* = 10%°

Z2x"-10x

3.4gut=7p

2> (x%8n - 2 p

2x" (X

2 T
0 = X"+ 3% - 105 -~ Fx15

~8)(x+3) =0

5 = x(x+7) - 105

0= x> <100
o= L0
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atr Grade
Word Problem Test

Choose four out of the five problems
to solve. Cross out the one you don’t
wish to do. (You can do the fifth one
for extra credit.)

You must show work with equations
in order to receive full credit.

1) Two consecutive odd integers are such
that three times one of the numbers is
seven more than twice the other
number. Find the two numbers.

Y= Xt2 or x=ysz

3K=2/+7F
3(r7)=2yrz | 3x- 2 (xr2) +7#
3Yte=2Y1T | 3x> 2x4yr?

2)  The product of two numbers is 90, and -

one of the numbers is three more than
three times the other number. Find the
two numbers.

2 3=90

76(; 3Kt

x(3x+3) = 90
3% +3x-90=p
3 (%% +x -30) =0

3) Jeff's age is three years less than twice
Kate's age. Four years from now,
Kate’s age will be % of Jeff’s. Find
both of their ages.

N ZK'B‘?
k= 2 (J+4)
k-r‘-l & %(Zk“3+u>
ok 33
Skieg

10~
K"‘ 3 —‘3‘ :/0

4) Jeff biked from his house to his uncle’s
house averaging 18mph and then
returned home averaging 15mph. If A
the return trip took 16 minutes longer, o = —
then how far is it from Jeff’s house to IS
his uncle’s house? , - D
/ z,

RITI = Tz’z '—

5) Maria has 32 coins worth $4.55. How
many of each type of coin are there if
she has only quarters and dimes?

R+D = 32

26Q+ 10 = Y55

298 ~ Jo(32-4) = 455
256-10Q=45C~-320 )

1$ 8= 135 = @=q ) D=13



Quadratic Formula Test

You may not use any notes, nor use the
workbook.

1)

Give the quédratic formula.

2) Prove the quadratic formula.
(Hint: you should start with the
General Quadratic Equation, which is

ax> +bx+c=0.)

How is al-Khwarizmi’s version of the
quadratic formula different than the
modern version?

3)

Solve 5x2 — 10x + 4 = 0 by using the
quadratic formula. ( Grve dec - dﬁﬁfok

102 Ji00-4H)

4)

M=

A

5) Solve x*+ 12x + 27 = 0 by using three
methods:
e factoring
e completing the square
e using the quadratic formula
You must show your work!
Factoring

2 +12x+27=0

Completing the Square
X2+ 12x+27=0
XT+12%+36=-2F 43 ¢
(x+6)" =q
X3lo= T
Quadratic Formula
x>+ 12x+27=0

RPRNITTR1) 459

X =




1 ™ L4 /

Algebra Year- End Test 2::43

Simplify. (2 points each)

1))

2)

3)

4)

5)

6)

7

8)

4x° + 7x° : ¢

[
(4x)(7x%) L 10
@+ T xwgS
e g

73 + 7x — 5)
7’><q+ “7’7X3~ 35)(1
5iCy? + 4 — 12x3y?
Hx3-2x°
2x - 3)(5x +2)
10x>-1Ix € -,
(x = 10)(x + 1)(x - 3)
x2~qx~0) x -3>
><3 4710 =3 +zz>(+30

i

3~;2>< +/?>< +3p >

Simplify. (2 pomts each)

9

Z’:x"sx2
6’y 22 X 3 ” ;

SR i &7

Evaluate each expression (2 points)
given that x=3;y=-1%.

10) 2x? —6y+xy

194G+ 3(-) —~
%ﬂé M—

&

Factor. (2 points each)
11) x*+13x+30

éﬁl&)(x +3)

12) x2-13x-30
6 = )S)()a +“L>

13) x*+13x-30
(x +/$>(x—"7_>
14) x*>-13x+30
Cx =) 0>C7( ’3)
15) x*-25
é(er SXXZ'5>
16) x*+9

cant

17) x’—4x
x (x® »q) % (x4 M-z

18) 10x3 + 30x% — 40x
jox (x> +3% - )

19) 12x%° — 4x%y3

Yy (3><y7‘~$>



Find the Common Solution. (4 points)
20) 3x-4y =26 —» yx = 4y+2 b

2x+5y = 21 g

= 7-6

: ol
2<'§ \/+5>+Sy >)
+SY sind |

By +22
3 3
i 'I-’-- "“—2)0_2}
y ¥ i

- ~IS
Ve

s ) 35

= =1z
/ 3 2_}

Solve. (4 points each)
Use the quadratic formula only if

necessary.
21) 7+3(x—4)=5x—-4—=x

$+3x-12=84X-Y
P¥eS = Hxy

22y 32 e fx =22 +x + 20

Ixt- sz.,?x -~ Xe=R O =D

ok 220 =P

(x~10)(x12) = 0

5

23}

x+4 3x -
3(3x%- ?) 5(% +"f)
dr -2F = Sx+20
x = 0y
5 = H/i- 3 /0L
v
24) x2+3x=17
X 43x -7F =p
x» T3V HEE
Z
x= 333

25) x*+3x=10x-12
2
Ki=EX #18 =)

(7‘ “5\)(% ‘H) =1

26) (x+8)(x—3)=26
XEHSX-~2Y =26
KEFER-50=0

(s +10)(R=5) =

0

S





